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n "".'

3. Assume suitable data wherever necessary and state it clearlx;.h

'H. —H—

Q.1. Answer ANY FIVE
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- Calculate entropy and information. . .m;ﬁ;_;f»‘*' m-"j'..:* &
(b)Explain with neat block diagram the Matched ﬁlt
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() What is optimum receiver? Explain in detail. (" 5 <
(d) Explain Lempel-Ziv Coding in detail & < ¥ ___;;-.if}?“"j L
(e)What is EYE PATEERN? Explain lts onificance. .= <
(f) Differentiate between Source Codmg%

(g) State and explain central limit theéorem.:- g

o (h)State and explain Shannon’s thgﬂi"qﬁi.j;ff;,- q
(i)Why MSK is called shaped QPSK"
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Q.5.  (a) With the help of neat block diagram and waveform, explain how “"thﬁessa‘gg« *‘”"“’“w;‘
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for 16-ary QPSK and Compare with 16-ary QASK. . ""‘,?ﬂ"; LY %k
Q.6.  Answer ANY FOUR of the following BT I S B B

(a) Explain significance of AWGN channel.

(b)Explain Line codes and their desirable promrpesm ﬁ :f m;’; 867

(c) Differentiate between BPSK, DPSK and D
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